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FOURTH SEMESTER B.Com. DEGREE EXAMINATION, MAY 2011
Core Course

BC4 B 05—COST ACCOUNTING
yme : Three Hours Maximum : 30 Weightage
Part A

The part consists of three Bunches of questions carrying equal weightage of 1.
Each bunch consist of 4 questions.
Answer all questions.

I. Choose the correct alternative :
1 Indirect materials are :
(a) A Prime cost. (b) A fixed cost.
(¢) An irrelevant cost. (d) A factory overhead cost.
2 Prime cost means :
(a) Direct materials.
(b) Direct labour.
(¢) Direct material and direct labour.
(d) None of these.
3 Which of the following will not be used in job-order costing ?

(a) standards.

(b) marginal costing.
(c) averaging of direct labour and material rates.

(d) Factory overhead allocation based on direct labour hours applied to the job.

4 Normal wastage is properly classified as :
(b) Period cost.

(d) Deferred charge.

(a) An extra ordinary item.
(¢) Product cost.

II. State Trueor False :
5 Financial accounts provided information for income determination. (True/False)

6 Slow moving materials have a high turn over ratio. (True/False)
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(Choose one alternative from the bracket and fill in the blanks
chnique of —— . (stock contral/labour control)
. (cost accounts/Financial Aceg,,
Ntg)

= ABC analysis is te
] interest on capit
olumn A with column B :

al is only shown in -—-

§ Nation:

11l. Match the items in
Column B

Column A
Telephone Rent

g Transport company
- Operating costing.
al Inventory system

10 Semi-variable exp.
s Perpextu

Period costl.

11 Bin card
12 Fixed cost -
- Varinble cost.
(12 x Va = 3 we;
o) r}
g lta.[k.'

Part B
o sentences cach.

cfions in one or lu

os a weightage of 1.

]

Answer all que
Lach ques

tion carri
13 Define cost unit.

14 What do you mean by Direct cost ?
What is E.0.Q.”?

15
16 Define idle time.

17 What do you mean by over head ?
18 What is Machine Hou
19 What do you mean by composi

r rate ?
te cost unit ?

20 Define Job costing.
(9 x 1 =9 weightag,,

21 What is cost plus contract 7
Part C

Answer any five questions.
Answer not to exceed one page each.
Each question carries a weightage of 2.
al Accounting and cost Accounting.
ory overheads are 20% of prime cost

22 Distinguish between Financi
t is 25% on selling price. Calculate the

ct is Rs. 200 per unit, fact

93 Prime cost of produ
25% of works cost. Profi

Administration overheads are
ion of the job and the hourly rate is Rs. 4. The -

selling price.
d 60 Hours time for complet
alculate the wages of worker under Halsey

24 A worker A is allowe
vorker is 40 hours. G

actual time taken by the s

plan.
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late EOQ from; the following mformation 15417
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gb { Annual consumption 6,000 units
Cost of ordering = Rs. 15 per order
Cost per unit = Rs. 2.50
Carrying cost 20% ol average inventory.
1,000 units of raw materials wereantroduced to process X at Rs.10 per unit. Dy
] o;lwr expenses were Rs. 3,000 and Rs. 2,000 respectively p >
the umts mtroduced to the process are normally lost v}

nit. The actual production from the process w
unit. .
&v p!-vp:ll'[' lIrOL‘(‘SS }\ﬂl('.

labour and
ast expeniences «

)hl‘)'.'.‘- lhill 107% 0l
which posces 5 serap

value of Re 6 e
ere only 850 units 1o by transferred to proces:
- Calculate the Re-ordering level from the f'ollowing —

- Maximum level — 450 units per day
Minimum level — 150 units per day
Re-order level — 819 10 days.

gg Calculate total kms and Total passenger kms fron

1 the follm\'ing data —
Number of Buses

5
Days operated per month 25
Trips dorie per lens e 4 b
One side distance per trip 20 kms
Capacity per bus o0 passengers
Capacity 90%
(5 x 2 = 10 weightage)
Part D

Answer any two questions.
Each question carries a weightage of 4.

9 ABC Ltd has two production de

partments and two service departments, Expenses incurred
for these departments and othe

r information available is given below :

Overheads Service consumed  Power
Departments Rs. maintenance % g
Production Depts R .. 2.00.000 40 70
S .. 2,50,000 40 25
Service departments -
Maintenance M . 20,000 — 5%
Power P 30,000 20 —
Total 5,00,000 100 100

Turn over



30 From the data given below calculate :

(i) Material cost variance.
(ii) Material price variance.

(iii) Materials usage variance.

Product Standard gty
(units)
A 1050
B 1500
C 2100

31 A company at present operating at 50% capacity,
cost is Rs. 180 and the selling price is Rs. 200. The expenses

Direct material

Direct labour

Factory expenses 60% variable

Standard Price Actual Qty  Actual price
Rs. (units) Rs.
2.00 1100 2.95
3.25 1400 3.50
3.50 2000 3.75

produces and sells 10,000 units. The yy;
per unit are given below :

Rs.
100

Administrative expenses 40% fixed

30
30
20

(2 x 4 = 8 weightag



